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+ Find the perimeter of the figure. ———— B Q@ - }{-ﬁa L
7
/
?
1

A 5 feet 8 leet

11 Tewt p: A‘—Fgufc

g : < StFrr70
e perimeter is ee C P
The p t Zgj feet. P“Z /3 S

Answer, 23 C g =z 25 hﬂ:& “
—— R - —_— . _— —_— "“r-
) ADD AL 5T DES™, @:,f /):2C+Zw :
Find the perimeter of the figure. ) . i p
e Rectangle 1 font P: 2(2).1_?(‘) <,
Al 2heet Pz Y7L z
_@/_ << - v
Answer: 6 S ' (777‘: 6) :;
s, - @by AL Soes~,
Find the perimeter of the figure. ; e e D
N, PABCDter

m 20 centimeters

=[G+ Tt iFe0t P § ”»
= 27+2¢10+9719
FP= 29 +lo+5+/9
Fo &G+ §

= SF+ /9

Answer; 77 @;—77 )_

. ___._C- -— : — - E—. FEPPS—— - '_.. -
4. Find the perimeter of the figure. 10 meters P=A1Bt+ DtE+ S
e Pz SHESTI0FI 576

—

PO+ oF11+ 5+ ¢
‘A 5 meters 11 meters D ’/: ZU 7(_{ l'f )"—f.(,
? Pz 31 5T 6

=ll-$= —
Sl s EF =S (? A5
m 7z D

=
9 centimelers

nlimeters

8 centimeters

19 centimeters

19 centimeters F

The perimeter is |

Answer: 42
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5. A new notebook computer with DVD player costs $1373, Derik Mulier has $1444 in his checking account. How much will

be left in his checking actfount after he buys the notebook computer? / 7924
Derik will have $ remaining in his checking account after he buys the notebook computer, — { %73
7_.!19
Answer: 71

6. Find the total land area drained by the C and D sub-basins. B River Basin
£
[8F00° : oo
7q O™ z 520,00
@6 §ooo 2 249,000
-— 2 189,000 162,000
r 79,000
g o

e

(> &

Answer: 268,000

7. How many more square miles of land is drained by the A River Basin

sub-basin than the B sub-basin? Sr_ 60 00
—24709Y
¢« 5/30097%

247,000
SR SR — ¢ o
e ~
e —— /5/

Answer: 313,000

300s60,000

Area (in thousands of square miles)

— S I — = I_\--_-_—‘:_‘_-_\-;ﬁ_‘ - S E = - —
: ADD Alc S iYes~
Alexander is installing a pen for his dog. The pen will have 109 feel

the shape and dimensions of the figure shown to the right.
How many feet of fencing are needed to enclose the the

area shown? P‘?- /J_'—fg ~C ff'D 99 fecl g feet
P G9HoI+HI ¥roy A
pP- 207111376y SIS

Answer: 390 @ e
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read to finish the book?

pages

Answer: 4

10. A permanent game board is made of granite. It is in the shape of
the square playing board.

feet.

The perimeteris | |

sQweil E‘I’L

https://xlitemprod.pearsoncmg.com/apifv | /print/mz

Evelyn Abrams is reading a 971-page book. If she has just finished reading page 967, how many more pages must she

T
— 767

g_fg_are wuﬁ 51dej;}gths &42 I‘L‘Flnd the perimeter.of

=45
P %e)

(5"“& '

),

¢z \*.

.-'r.

Answer. 168
P W B - VAT
1. L
The table on the right shows the number of particular stores The Top States for the Stores
in ten states. Which state has the most stores? State Number of Stores |
- A 34
(.- E'_U_F._"'t C:,_.—-——""'_.lza —e g":a—__
C 71
D 43
E 75
= F 62
G 51
H 79
K 49
L 108
MOA OE OK
ﬁ B OF QL
cC O¢
D OH
Answer: (1) B
12,
The table on the right shows the number of a particular State Number of Stores
store in ten states. What is the total number of stores Arizona 84
located in the three states with the most stores? California 100 X———
Florida 64
A total of ' stores are Iocatqd in the three Georgia 181 ) &—1—
states with t t stores. /OO illinois 66
/ 6 / N'EW'YOTK 67
Michigan 21
7 6 Minnesota 90
Ohio (96 x—
Texas 89
Answer. 357
Jof43 2/1.2019.
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13. Round 9,778 to the nearest hundred.

The number 9,778 rounded to the nearest hundred is ‘ i éd Of !

Answer: 9,800

14. Round 698 to the nearest ten.

698 rounded to the nearest ten is | i_% 0o Z

Answer: 700

15. Round 92,388 to the nearest thousand.

92,388 rounded to the nearest thousand ig

Answer: 92,000

16. Use the distributive property to rewrite each expression.

8(2 +9)

17.

The area of the rectangle is _4_ % 1) S!Wf b

(2) m_c’???::, A= @)(7)
TC A3

The perimeter of the rectangle is |

{1) ) meters. (2) 7 cubic meters.
() cubic meters, '7( meters.
’?( square meters. () square meters. 2207 W

N P2=2(7)2(7)
(1) square meters ﬂi /’fT/‘/

0 | Q:BA“:}

(2) meters.

4 of 43 20072019 9:37 AM
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CuJs ¥
18. 18 feet -
_ c®
50 feet 6» —'5

Find the area and the perimeter of the rectangle shown to the right.

= =l W [

The area of the rectangle is g-f Q (1) "w" \feuf' = /4 (S—OD ([ 7 oY%

The perimeter of the rectangle@ E é ; K eu'i’ A— 'ﬂ/ %{)

(1) % square feet. (2) O cubic feet. /0 - ZC"f 2/
) cubic feet. (Z) square feet,

O feet. & feet. p = '2/ 3@) ~+ ( / 7)
/= 00 73

Answers 900 ‘
(1) square feet. p': / 3 6 A

136
(2) feet.
19. One triple fudge brownie contains 123 calories. H lories are i 3t_l fudge b ies? e = ”E_—”I
) e triple fu ntains calories. How many ca in 3 triple fudge brownie s

L calories N f&; {(a) = {23(’5) baa_y
—_-/
— L 2em

Answer: 369

20. The textbook for a course in biology costs $93. There are 35 students in the class. Find the total cost of the biology books

for the class.
[ 25
The total costis $ g _) =
@f 43~ &
Answer: 3,255 ( yus <

B . Llar) = ‘7?(3 ) lraty

jof43 2/1/2019, 9:37 Al
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21. Cabot Creamery is packing a palette of 20-ib boxes of cheddar cheese to send to a local restaurant. There are three layers
of boxes on the pallet, and each layer is five boxes wide by three boxes deep.
a. How many boxes are in one layer?

b. How many box-es are on the pallet? é Koy = f‘) (,3 ) éo;(.p R

c. What is the weight of the cheese on the pallet?

a. Thereare | ( /5’2 ' boxes in one layer. 5 M P—E\’(J’) L) ne I‘*)f’f

b. There are _@_ boxes on the pallet. i /&//f ya ( / ‘f) ( ,5 )

c. The weight of the cheese on the palletis { < </ c/ le £ ? 4 4\.!/_; 5
—————— _._.—'_'-.-'-'-H-‘-ﬂ

/)a. Hi’{/

Answers 15 ﬁ/(/)é
43 Ch .y
900
e —— — — _1-_t_\;_—5-\_" R, = = - :
e ¥, W = . f
22. A plot of land measures 60 feet by 180 feet. Find its area. ' = \j‘u J#_,/
LUt

The area of the rectangle g E:’O gﬂ O | (X fed ﬂ““" 7[“* ”A < W

((
Z
(1) O feet. '4:{5 "ﬂ( 60/ / & 00

() cubic feet. / 30 0 ( O ""_-5_5’5
{::.‘chsquare feet.

0
- /0¥
Answers 10,800 @jf/ Yfﬂ’?O L)

(1) square feet.

The largest hotel lobby in the world can be found at the
Mega Grand Hotel. It is in the shape of a rectangle that
measures 224 feet wide by 315 feet in length. Find its area.

e . 315 feet

15:20 CHO [11 S'Q)u-'f'{ \)\ /4 L s
(1) O feet == el /4 (3/”7/&3 Y} Zfir

e A = 7o 5o X2ey

The area of the lobby

/262
Answers 70,560 (6 30
(1) square feet. Q— 2 -Jé—d“ﬁl
_— - e ooz — = iy e |' . L}e/_é\ I

6ofd3 2/1/2019.9:37 AM
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24. A pixel is a rectangular dot on a graphing calculator screen. If a graphing calculator screen contains 66 pixels in-a row and
94 pixels in a column, find the total number of pixels on a screen. - -

The total number of pixels on a screen is ( 6?! 3:"5\‘! d c.‘?
Pty 7
T

Answer: 6,204

25. Aline of print on a computer contains 90 characters. Find how many characters there are in 18 lines. 6 7 oY
@ . TN 7
6 /O | characters / 4
i I S, —
o<

Answer: 1620

/62
26. One ounce of nuts contains 161 calories. How many calories are in 15 ounces of nuts? 3

calories

Answer: 2415

7of 43 2/1/2019, 9:37 AN
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27. The Thespian club at a local community college is

https://xlitemprod.pearsoncmg.com/api/v1 ‘print/ma

T-Shirt | Number of | Cost | Costper
ordering T-shirts, T-shirts size S, M, or L cost $12 each Size Shirts per Size
and T-shirts size XL or XXL cost $13 each. Use the table Ordered Shirt Ordered
on the right to find the total cost. (The first row is filled in 5 10 $12 $120
for you.) Y 3

L 4
XL 2
* XXL 3
Total Cost
T-Shirt | Number of | Cost per Shirt | Cost per Size { L
Size Shirts Ordered
Ordered L ;-? [ (S
S 10 $12 $120) = 2
M 3 8 /2 B %26 > 36
L 4 B /2 B @y T2 Y79
XL 2 B /2 B (b — 26
XXL 3 $ [/ 3 5 2
- - = H —-—(— 3 ﬁ
Total Cost$ E ? fj ? ! <
Answers 12 ”/’2-7{":4:\
12 =5
48
13
26
13
39
269
ey
28. A plant for a tea company has bagging machines capable of baggigg 10 00 bags of tea per mrnutﬂ If the plant runs 22
hours a day, how many tea bags are produced in one day? 'ﬁ_
] B — g
The company produges 20 Ofx}ea bags in one day of operation,
mn élt;?
Answer: 1,320,000 ,.}1)
ut
Q_/\\! Go
(/aw) (RZ hy) — 2
how raaly /10
* )=
(7o) 28 % o (Lo
3
/ JOV ( [320) ~ l
0 JO =

C?&o

Bof43
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29. Find the quotient.

45

5

Select the correct choice below and fill in any answer boxes in your choice.

%A 15_5_=

{0 B. The answer is undefined.

45

30. Divide the following and then check by multiplying.

2J84

Select the correct choice below and, if necessary, fill in the answer box to complete your choice. ( i )
—
fi’ A. The quotient does not have a remainder. The quotient is 0 C{
O B. The quotient has a remainder not equal to 0. The quotient is R - ( L( )
D
() €. The quotient is undefined. O

Answer: A. The quotient does not have a remainder. The quotient is { 42 '

31. Divide the following and then check by multiplying.

5) 2860

O B. The quotient has a remainder not equal to 0. The quotient is R — / O)
(0 €. The quotient is undefined. D
If ‘f/'m

Answer: A. The quotient does not have a remainder. The quotient is 52 .

9of43 2/1/2019.9:37 AM
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32. Divide the following and then check by multiplying.

Bj 1969

36
L) A. The quotient does not have a remainder. The quotient is . - (3 ’L)

“;(B- The quoﬁigu\jhas a remainder not equal to 0. The quotient |@

(O €. The quotient is undefined. /ﬂ,
Answer: B. The guotient has a remainder not equal to 0. The quotient is ! R

33.  Atruck hauls wheat to a storage granary. It carries a total of 5,500 bushels of wheat in_
haul each trip if each tnp it hauls the same amount? B
¢Sow.

The truck hauls _5-135 2' ‘bushels each trip. Y,
/

Answer: 500

34. There is a bridge over a highway every two miles. The first bridge is at the beginning of a 135-mile stretch of highus . Find

how many bridges there are over 135 miles of highway. ﬁ )
, { f?i—f bridges e 2 / Lo

Answer; 68 {5
- = %4
35. Suppose the elevation of a peak on a certain planet is 10,560 feet. A mile is 5280 Teet. How many miles he pe
e, = ™
The peak is | ( é | miles tall. f
Answer; 2

e . — i '"_'.?-—"— —n .-.__;'_'\_:_1.:_.__—___‘;__ e} ﬁ v./\
36. Find the average value of the following list of numbers. {(\r‘ // / 5— / 7 y S:j Z EN
20,25, 11, 26, 17, 15 —) AR §

;o GUrse = ,/7(
[I# (54 (125120 FLL

The average value is

Answer; 19 2;‘
= P _nv,_é_ 26
—% - /] Cf
.r’p:\)j\’ ©

o>~ _C?__- — ' - 2/1/2019. 9:37 AM
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37. Find the value of the expression.

Answer; 144

38. Evaluate.

34

@D

Answer: 81

39. Simplify.

36+6+6

TEo6=
Select the correct choice below and, if necessary, fill in the answer box to complete your choice. 3 6 G ( e

A 36+6:6= C‘@
sion is undefine /A -

(O B, The expression is undefined.

Answer: A. 36 +6+6=

40. Simplify. & [26_’ DA > A % <2, o

40+8-5+9

Select the correct choice below and, if necessary, fill in the answer box to complete your choice., =

H) A 40+8-5+9= @ Z&ﬁ—/-g:_.

(O B. The expression is undefined. ;_f:\

Answer:A.40+8-5+9= R

41. Simplify.
&£
16+3-1 /rT;'“/ -
Select the correct choice below and, if necessary, fill in the answer box to complete your choice. g‘ e [ 0

;I§.A. 15+3-1=

(O B. The expression is undefined.

Answer: A. 15+3—1=‘I

I} of 43 2/1/2019, 9:37 AM
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42. Simplify. /({M(DA/) /‘Z'f ...Z}-_ e
18+? °

Select the correct choice below and, if necessary, fill in the answer box to complete your choice. / f T c; =

;,*ZLA. 1a+§= | @ 2.7/ f—'""

{0 B. The expression is undefined.

45
Answer. A 18+ 5= 77|

43, Sim;;li.f);+6'3 @@/)"> Go A+ 6-3<

Select the correct choice below and, if necessary, fill in the answer box to complete your choice. / 2 ~+ 6 . 3 —

fﬁA. 6+2+63= @ /z,r- _/i —

(O B. The expression is undefined.

Answer: A.6+2+6+3= 30 ( 39

44. Simplify.

(2+7)+(9-6)

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.
17) (247 )0 (7¢) -
KA. (2+7)-(9-6)=

o [
(O B. The expression is undefined. ﬁ 3

Answer: A. (2+7)+{(9-6)= l 27 l @

45, Simplify. e __m
C_rerths

3*-[26-(10-7)]

if necessary, fill in the answer hox to complete your choice.

37~[26—(r0-7){~
39~ (26— (3)]*
BL [26-3j;:

Select the correct choice below and

KA 3*-pe-po-n=_ (>V
) B. The expression is undefined.

Answer: A. 3% - [26-(10-7)]=

120f43 2/1/2019.9:37 AM



MATHSTHGRADEWARMUP149¢-Alfredo Alvarez

https:/ixlitemprod.pearsoncmg.com/api/vi/print/ma

46. Evaluate the expression forz=7, @ 2 + ‘f T
3+4z
=) 3T (<
W& IV 3123 <
Answer. 31 @}
47. Evaluate -the expression for x = 2andz=3, = k. 3 —¢ X = |
Ixz ~-4x /4(5'1#\ DAV; )( 8
- 2(2)(3) — ¥C) =
3xz-4x= é;d! - 3(6) ‘_‘(f(Z)"
Answer: 10 / 7 — 5 =
! e e 0.2 et
48. Evaluate the expression forx=2,y=2, and z=4.
. @ ¢ X+y=
The answer |s C(/) C z) + ( Z‘) =
$—2 12 <
Answer: 4 22
49, Evaluate the expression for x=2 and z=4,
6 WS) -2 =
x- _@_ 3(2) () =
Answer: 2 — L( ~
Cz?:,
50. Evaluate the algebraic expression for the given v (&
" j"j\ )( —~U€7 <
X -2x+7, forx=4 P&M . _
: _ _ ()t =T )7 <
When x=4, x“ - 2x+7=| | —_
(Simplify your answer.) @ C@(V) . Z( Q) T 7
/6 = F17 °©
Answer: 15 5 i -
S— IR * ‘r =5 _-j
51, Simpliy. P Er P>

3+4+5-11 3'1" 9"’ S~ ""ff -

3+4-5~11= 7 2o ot

Answer: 12

13 of 43
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52. Solve. Check your solution.

x+7=10

The solution is x = ( 3’—>

Answer: 3

53. Solve. Check your solution.
23=y-9

The solution is y =| 2

Answer: 32

54. Solve.

4x= 48

The solution is x = | (E'; E L

Answer: 12

NED =0
X+7=7 = fo-7

A=
23~ 7~ 9
21+ = 975

C=0

2
-

=

https://xlitemprod.pearsoncmg.com/apifv 1/print/mat

Chocle

X'f’} = /o .,,7
(3)'7‘7 T/o 7?
P Ry e ‘
/Q = /0 C—D\)g(
C,I’)-e’ct(
23=9—75 (
28 = 3O~ T 7
23 = 34~9 7
23 <=2% 6‘0\10{
__C_A;UL 7 ’(z

X9
7

Yx =¥7
A z2)<¥g L

Yi=%¥

G X
55.  Solve the equation. First combine any like terms on each side of the equation. Y_C_;j;cg__h_ /73 7
X-4=-1+3 {"'L{Z'/""3 Lt g .
= 2 (8)—< 3 7
The solution is x = ! é 2 ) ”(( ‘-_‘ 6—<« = —+3 ’ 7
K==Lty 2= 2 -
Answer: 6 @ &_
09 A
56. Solve the following equation. S~ s=0 g-)—?f?f__ O ,7
x-520_ eS0T sty-yse 7,
x=:. = .._..I g//(,:’)/ 5,.-—_’ - o /
Sk % & B
Answer: 1 =3 S o= 0
N el ook
57. Solve the equation. 5‘/7 —+ §0 = }ff C/}c’ck_ - 7
s —+ — .o
5n +50 =55 S/ ~F s —v z STV ;(0 -r-?o _ gf’— ;
n= S’ﬂ < r ‘—_‘ = :
d 59— 5 ST = S5
Answer: 1 5 3 ﬁ_ = S5 5/
D24 G

14 of 43
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58. Find the prime factorization of the following number.

44 _,--""'

The prime factorization of 44 i) Z e J « f/

Answer: 22, 14

59. Find the prime factorization of the following number.

4 —

e

The prime factorization of 4 i

Answer: 52

NN

60. Wrile the prime factorization of 592,

The prime factorization of 592 is (1)

(1) O 2%.37. O 2-3-5-7.
O 2%.37.
O 2+37.
O 2°.37.

29.37

Answer: (1) 24 . 37

htips://xlitemprod.pearsoncmg.com/api/v l/print/ma

,pnszL3J’7/’ Ul7

ﬂfﬂf)z 307/( /3//7
A
(&
/
Z
L #2202

61. Find the prime factorization of the following number.

190
The prime factorization of 190 i 2 o __Sr_' { i . )
_-'-/-F'/

Answer: 5+2+19

sg2€ 20202027 37 )
Ferms 2, 5 5, Z /", /1 /Z 19
2./ /g0
s

62.
16

15 s
S 30= {Type an integer or a fraction.) /(:

. )
= e (L){%)

Answer: 1

- EDAT .
CUACIEY B @
;v

(2)(2) @) (L) (?)

15 of 43

15
Divide - —— + 30. Write the quotient in simplest form.
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63. Perform the indicated operation.

g~ 9
. o=z
. 1 / /0
4+ = (Simplify your answer.) :{_ . LM — r-_( W -L-L
(S G
Answer: ifl
g
64, Perform the indicated operation. __{ = ’/]?._." R
5 11 7 &4
T A |
5 7/ /
—_—.— = | (Type an integer or a simplified fraction.) : (2 ) ( ,v/ y
Answer: 10 (7j
2 ,_f:_, (_7:) - L
_ - — )L~ : —_—
85. 1 —}-,15’0 = “ints 43 L7UTY
Find 7 of 180. 1 (Q(3X3) (7 wmm Fo

; 7 |

1 -

5 of 180 is | ﬂ (Slrnpllfy your answer. Type a whole number, fraction, or mixed number.
o 20 ’}) ()57

Answer: 36 /m
M () (3)(3) = @

3
Find " of 24, Write the answer in simplest form. '3 2 L/J —

- %
% of 24 is '__@ (Simplify your answer.) ( ) z) mfw €
Answer: 18- . | | ﬁﬂ 22:1 ) /; : ()(Z)(}) @ -

67. Insert <, >, or = between the pair of numbers to form a true statement.

062 0.69 B _—f\

66.

‘“x\‘
0,62 & 0.69

e ———

Answer: <

16 of 43 N9 937 AM
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68. Insert <,>, or = between the pair of numbers to form a true statement. / . Gl / ¢ _S/

1497 15 /o 97 < /.5"00\}
R.5_1‘497‘L1'5 Q,\i//

————

Answer: <
69. Write <, >, or = between the pair of numbers to form a true statement. G. ¥ g( 2 ? 0 ’ C/Z 70 o
0427 0.42700 : A . o
- (W 0.427 90 = I-42700
» 0.427, = 10.42700 T~ — —
Y e
Answer: =
70. Round the decimal to the nearest tenth 0 o’ 3 3 S’ -
0.33 /’ f\ [fS) ”u‘“" A vy
(L& mobrer

0.33 rounded to the nearest tenth is ||

Answer: 0.3

71. Round the decimal to the nearest ten. / 3 76 Ow 02 ’

han S
13,760.021 — /1 \ﬁ; "L,‘. muwvf 47
13,760.021 rounded to the nearest tens place is !737—5_6 2 o{
e

Answer: 13,760 b/

Y _ e 422 ¢ _,
Round 0.4226 to the nearest thousandth. 04226 = | T i

Answer: 0.423 | l'/fhﬁ B S/

73. Round 4.72661419 to the nearest tenth. % 72 66/¥1 1 e e
s g [ W
4.72661419 rounded to the nearest tenth is ) ,}ha 2 \%:’ “’“J f
éo o

Answer: 4.7 AL
) 7 3

170f43 2/1/2019.9:37 AM
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74,

Round the monetary amount to the nearest dollar.

$24.77 P
$24.77 rounded to the nearest dollar is $ g 215-: :

Answer: 25

75.

Round $0.8736 to the nearest cent.

$0.8736 rounded to the nearest cent is Sr U € j

Answer: 0.87

76.

77.

78.

79.

A used biology textbook is priced at $34.81. Round this price to the nearest dollar. 3 9/, Z' /

$34.81 rounded to the nearest dollaris § { 2 é_z A

Answer; 35 3 r
Write as a decimal 19 — ” a\i o
19 | Lif /’6:’! °I_ — / OUW
4—1?6- ~+ 7&3 - —_ (/O v )

Answer: 4.19 O /;0 )
Add the following. 9% < Frwel,
6.5+6.24 Y t6:2Y =
6.5+6.24=| / Z ;?iﬁ-*]-' ({rxype an integer or a decimal.) { Zo 7 (/ )

Answer; 12.74

Subtract and check, q U 7
Ze S

97-25

89.7-25=

Answer: 7.2

18 of 43
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80. Subtract and check the following.

A
£ [ q; ' (Type an integer or a decimal.)

Answer: 13.9

15-1

15-11=

81. A landscape architect is planning a border for a
flower garden shaped like a triangle. The sides \
of the garden measure 17.3 feet, 24.66 feet,
and 22.9 feet. Find the amount of border 7.3 feet
material needed. \

=
The amount of border material needed is { £ » " feet.
(Type an integer or a decimal.)
Answer: 64.86
82.

The bar graph shows the top five chocolate-consuming
nations in the world. Use this graph to answer the following.

Which country has the greatest chocolate consumption per
person?

Choose the correct answer helow.

{3 Country C

() Coun B
Country B

() Country A

(O Country E

Answer: Gountry B

—— 24.66 fcot ————>»

g o

i hnps /xlitemprod.pearsoncmg.com/api/v1/print/mat

Vs L O e &

—1/
'__-_-_____._-f

[ 3+

t

/7.30
2. 66

~+ 22: 70
Glet )

P = At
Pz 1732+ 2%.06 + 22

The World's Top Chocolate-
Consuming Counlries

®
=

22.9 fect

Pounds of Chocolate per Person per Year

83. Use the values of the coins given below. Write the value of the group of coins shown
to the right, To do so, it is usually easiest to start with the com(srf gre,atest value

@ &

and end with the coin(s) of least value. . 2 1 e /o .i‘

Penny Nickel Dime Quarter x 2~ X G( O 1".
AN o A """_-.:, "/0 ..IS" L @ R y&-g

SO \iligier

$001  $0.05 $0.10  $025 28 @ b

The total value of the group is $ i«;@

Answer: 1.30

190f43

21172019, 9:37 Al
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84. Use the values of the coins g'ivgn to the right. Name the different ways that  Pennvy  Nickel Dime  Quarter
coins can have a value q 50.15 given that you may use no more than 10 iy

oy -, }
coins. - gg SN (o9 |E‘£ Ll k "y
e i ¥ a
j p TS & Bt
- i
O /s SO01  $005  $0.10  $0.25

Choose the correct answer below. Select all that apply.

C] A. 3 nickels and 6 Eenmes
WM(@ and 5 pennies

_‘_‘_|_h'_.—' g
@ €. 3 nickels ) 4——-
e o e .
ﬁ D. 2 nickels and 5 pennies S
_'_,_:-""

T:I E. 1dime, 3 nickels and’ | 5 pennies

(\F 1 dime and 1 nickel “'“\é

Answer: B. 1 dlme and 5 pennies, C. 3 nickels, D. 2 nickels and 5 pennies, F. 1 dime and 1 nickel

85. =
Find the circumference of the circle in terms of ©. Then use C =T1r D
the approximation 3.14 for & and approximate the

circumference. C =17 (’5 3)
" (<-urm
a, Find the circumference of the circle in__lg{\ms of n.
G <17 D
The exact circumference is | } 77 ! fi.
C= 2.19 p
b. Find the circumference of the circle using 3.14 as an approximation for . = 2.7 v ( 272 )

The approximate circumference is {/{9 2.6 ZE' . {Round to the nearest hundredth as needed.

Answers 33n

103.62

20 0f43 2/1/2019. 9:37 AM
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86. Find the circumference of the circle in terms of x. Then
use the approximation 3.14 for © and approximate the
circumference.

a. Find the circumference of the circle in terms of =

The exact circumference is @d

b. Find the circumference of the circle using 3.14 as an approxlmation OBY S‘l

The approximate curcumferen@ift f_@

Answers $.4x

29.5186

9,

( W https://xlitemprod.pearsoncmg.com/api/v 1 /print/mat
9.7 )

’ c=1DH
c=TT (AR

4.7 vards
C2v7 (2°¢.7) )
C Tl
£ (C= 97>
L~ 2 c=TDPb
'*’?22?2 ¢ =TT(2R)

,, C= 30y (2( </'7))
C=3v¢( 9:9)

{Round to the nearest thoux;dth as .
29576 C= 29-5/¢

87. A 1-ounce serving of cream cheese contains 5.7 grams of saturated fat. How much saturated fatis in 7 ounces of cream

cheese? __ / _Z
( ﬂ_‘{_
/(~)

< $5(07)

£ 7
X_7

———

Cross malt 2% 4

Si7 - AN
Answer: 39.9

88. The screen of a portable digital device is a rectangle that measures 4.5 inches by 3.6 inches. Fin,

The areais | ﬂ'é . g a square inches. (Type an integer or a demmal) 4 [ (l/

t/ Somd

Answer: 16.2

L.

R e e e 1

greg of the screen.

LU(%E

/9'5)(3 ¢) 27 0
G L

(6,20

89, The diameter of a ferris wheel is 150 feet. Find its circumference, Give an exact answer and an approximation using 3.14

for m. ~—

The circumference@ﬂ) /i-_feet.

(Type an exact answer in terms of &.) .

The circumference is approximat

Answers 150x

471.00

21 of 43

é _i 770— oa_jafeet.

(Type an integer or a decimal. Round to the nearest hundredth as needed.)

¢ =1rD

C - Y (sv)
(=2

c =D _
2.7 (/SV)
e
(8 \"'.1.
3 o/ 'S \
X (5O N
/ JooV
[ /51Y I
k 3/ Y /
T V0 /

q ‘7 l ] i
\ ——31/2019, 9:37 AN
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90. A meteris a unit of length approximately equal to 39.37 inches. If someone is 1.87 meters tall, what is his or her _4_ 4 . .(—"i.z

approximate height in inches? s 39 F337 muAd A 27,377 ~
K (227
Crvs
Using the given conversion, someone 6 is 1.87 meters tall has a height/of ipches. //”) 34, ‘;72 ’;;C

(Type an integer or a decimal.) 27559
—?4 476 A 73%6ZIg

Answer: 73.6219

—— | -7 f}“}( " & ‘T'IZ&)%
91, Consider the circles at the nght =
oot e s T ey oY

C =3, /Y(L(Z-’-’)) C =3, IV(JKC')
C230/1Y, rs
=30 S #D) Sy /Y((ZZ(:;”))

&C. _{2)060

285725

a. Approximate the circumference of each circle. Usé n= 3.14_—._-:7

The circumierence of the smaller circle is approximately /2 <~ Z © meters.
(Round to the nearest hundredth as needed.)

The circumference of the larger circle is approximately '2, )’_ f v ZC_J meters.

(Round to the nearest hundredth as needed.)

b. If the radius of a circle is doubled, is its corresponding circumference alsao doubl

Q/Yes

(3 No

Answers 125.60
251.20

Yes

92. One year, farmers received an average of $13.035 per bushel of wheat. How much did a farmer receive )or Js\~=.'lling 100
bushels of wheat? / - ,A.Q)_
13:038 f

The farmer received §| | 392, (O |. (Round to the nearest cent as needed) i) = (3,035 (tes

A= 135350

Answer: 1303.50

83. Perform the indicated operation. / # 7 J

+ 006

1.7+0.06
1.7+0.06= If o Zé (Type an integer or a decimal.)

Answer: 1.76

22 of 43 2/1/2019. 9:37 AM
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94. Find the decimal equivalent of the following fraction.

17
25 s

v (kg

Answer: 0.68

95. Write as an equivalent decimal.

Answer: 0.75

“96. " 9 | o 7 -

Wite 7 as a decimal. oo T
E: Ve R
9 7 O
7 50 =\ . 1

97. Find the mean, median, and mode for the following set of numb

21,28,22,23,16___ //6/ 2.7)
The meanis | _( Q.Z; Ayt ro2e

(Type an integer ordecimal rounded to one decimal eded. Use a comma to separate answers as need

The median is I_j./; r"\wldl«( ( n’l'{d‘l S| Lo

(Type an integer or decimal rounded to one decimal place as needed. Use a comma to separate answers as nedded.)

Find the mode. Select the correct choice below and, if necessary, fill in the answer box to complete {our choice.

) A. The mode is @:I’; o M"{A_@E‘%} ) /¢ S{—

(Type an integer or decimal rounded to one decimal place as needed. Use a comma to 22: i_ —:L_/f/
swers as needed.)

% /o
+ 27 -
<A

/10 0
22 1~

B. There is no mode.

! B. There is no mode.

Answers 22

23 0f 43 2/1/2019.9:37 AM
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y2
98. A stereo normally priced at $730 is on sale for 5% off. Find the discount and the sale price.

The discount is § 36 oI )( 7‘3005—- _:,7 i(z: fa;

Thesalepriceissl—éq,;,rﬁ 3¢ s o Z?SJ (’a)
000 5
Answers 36.50 @ m /;1._4

693.50

&
99. A company borrows $73,000 for 5 years at a sin%n erest rate of 11.5%, Find the interest paid on the loan and the total

i L
amount paid. { “"
; P 73000 7?600 C,I‘a
The interest paid on the loan is $; 6” l"u/ < 2 ST 4 LH 4]7;’— X s
,
AT ) 75
The total amount paid is $ I 76 5 OO0 5
s LGUD v 705 9 (l‘fﬁ’f
¢ 0
Answers 41,975 Jeso {\nk 3
114,975 L{ I/q-?;é;]()\z:i" J(Ucw,bow)\
\
100. o :

The circle graph is a result of surveying 700 college — P e

students. They were asked where they live while attending Q_'_P_““‘ W&O_é___

college. Use this graph to find where most of these college @ Ofi-campus rental 117

students live. [@ Campus housing 210

O Other arrangements 13
O ff- housing 70

Choose the correct answer below. W Own off-campus hausing

&L A. Parent or guardia_n'_sj_gr_l;l,a;-

(O B. Ofher arrangements

(O €. Off-campus rental

(O D. Campus housing

(O E. Own off-campus housing

Answer: A. Parent or guardian's home

101, g= 3- 3

Find the square root.

s /9 =

24 of 43 2/1/2019.9:37 AM
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102. a= ¢ @Et

Find the length of the third side of the right triangle. ta vl
®) = () = ¢

.8
8 b’ 36-F G¥ = CL
3¢

6 '

C

C/:/V /()U: c ¢

Ufaw ~ VL

A {
The length of the third side is E ; 0 2 FEY
(_______—‘
Answer: 10 / Y

= a-3r &= T
- - . q . - —H'—E—'—-—._,—
Find the unknown length in the right triangle. 35 mm (3 ) = (J"f) L; CL
i 84 mm ly ‘:f 9 "
N —
« (205~ 7056~ C

mm, 728 = ct
Answer: 91 {ng_i' - ft
Gl

104. Sketch the right triangle and find the length of the side not given. If necessary, approximalg_tbarlength-t&th&uag_gest

The length of the unknown side is

thousandth. T ¢ e,
leg=12,leg=5 A - 1 . \1_ ¢
(Y r(s=c
What is the length of the side not given? 17 - L
= ; J¥Y+ s = C
{Round to the nearest thousandth as needed.)
Answer: 13

105. Sketch the right triangle and find the length of the side not given.

bV @Y% @)
; ((ZZS’—JcéL: ﬂ/o‘i
GROr + L' =92 = GRG — Y2
L= s7 77

leg =65, hypotenuse =9

=

The unknown length is ' f’
ed to the nearest thousandth as needed.)

(Type an integer or deci

Answer; 72

25 0f 43 282019, 9:37 AM
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106. A playing field is a rectangle that is 360 feet long by 270 feet wide. Find, to the

nearest foot, the length of a straight-line run that staried at one corner and we
diagonally to end at the opposite corner, _ *'m feet
C 7t 270 = & 1‘(7 (5%
Jocy—f(z;)»( 360 fect
36( O =Ca (

— - (.
The length of the straight-line run is O feet. / 2 ¢ 7‘29 oo = C
(Round to the nearest foot as needed.) ; M Z O (" OO ':ch\ [ i

Answer: 450 = /?56__2. . é—_::\\

107. Determine whether the pair of triangles is congruent. If congruent, state the
reason why, such as SS8, SAS, or ASA.

10in./ /
12in. ~ T

Choose the correct answer below.
(O Congruent by ASA
{0 Congruent by SAS

Congruent by SS§5
{0 Not congruent

Answer: Congruent by 5SS
108. Determine whether the pair of triangles is congruent. If congruent, state 2
the reason why, such as SSS, SAS, or ASA. 56°"_/
5&5\\ 18 m /
X , /1Bm
34.‘:';:._ :X

Choose the correct answer below.

Congruent by ASA
(O Congruent by SAS
(0 Congruent by SSS
() Not congruent

Answer: Congruent by ASA

26 0f43 27172019 937 AM
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108. Determine whether the pair of triangles is .
congruent. If congruent, state the reason why, 5m_~ g13° 102 m
such as S§5, SAS, or ASA.,

Choose the correct answer helow.

) Congruent by ASA
{_) Congruent by 588
< % Congruent by SAS y

(" Not congruent

Answer: Congruent by SAS

Triangles A and B are similar triangles. Find the A -
ratio of the corresponding sides of triangle A to B

triangle B.
: 1 _ Kr_\ /s~

The ratio of the corresponding sides of triangles A to B is iﬂ

{Simplify your answer.)

Answers 3 B

1

111, Find the ratio of the corresponding w0/ @ .
sides of the given similar triangles. \ W —> ﬁ

The ratio of the corresponding sides of the first triangle to the second triangle is ;
(Type the ratio as a simplified fraction.)
[ C 2 ’{_@
Answer: 5 VZ. '](
2 Lz 2 "
(s JdE

i = . — = — N S e f —_—

///’V"! 7'/}/ (; 7

27 of 43 2012019, 9:37 AM
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v A
112, Given that the pair of triangles is similar, - 2, ¢ = -
find the length of the side labeled n. [%¢

3 i q‘(ﬂ/) =/ 3 S-(3)
Gy = FO-5 '@*}K

-
FA — OS5
g 9
Answer: 4.5 = 4/,5"
113. Given that the pair of triangles issimilar, find the Iength of ! Z 3 ot —
the side [abeled n. / f gg ‘f
SV /0o O o O A/

- /(/J) .'S“ n 40 Zf(‘/')) =
-L___() rL AN / v

:g')(‘j) O‘U" ﬁ’.‘-’-‘-’z%j

Answer: 20

114. A triangle is formed by the building's height ] x _ }-Q'

and shadow. Another triangle is formed by "_“\ P
the flagpole’s height and shadow. Using the i \\ 26
following diagram, find the height of the ) %6 { ’}J}
building. ¥ b lf(')() -
. Y
i v J0f L/X

/'
The height of the building is feet.

Answer: 270

115, [f a 40-foot tree casts a 16-foot shadow, find the length of the shadow cast by a 24-foot tree.

The length of the tree's shadow is f ggé } feet. 40! E 1‘{ B

{Type an integer or a decimal rounde earest tenth.)

no o
nswer: * ?0 cand =1
A :9.6 q /6
Yo 3% o () = (6(ey) Coo
660 W3y *~/"”

o) 1Y 0 '
J Yo - 3L
U';\ \)\'ﬁ "_(.D,‘LO/(M ;,5 &

I

28043 27142019, 9:37 AM
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-~

116, Draw a tree diagram for choosing a vowel, {a, e, i, 0, u) a

then a numbef (1, 2, 3 or 4).
number of possible outcoTEs:

se the diagram to find the

oF O D 1
v,

é ;

"l Ll L?<.,

o

O
b
AN
™~ T
N\ A

- o9

A

i

/ ‘\4 i
a : / ; <!
' Nt 2 i !
\ a "g_'a \ o \‘2
3 ~a 4
3 & u )
" uéé \ " 0<2
u i:".‘ 4 4
S "4 V3 i <1
A1 1 s] 1
<:: £ . 2
et

Based on the tree, what is the number of

Answers

b=

\ /ﬁ\

N,

N A

e Lea R g

€5 —

i

290f43 27172009 9:37 AM
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117.
Draw a tree diagram for spinning Spinner B 2 times. Use rect tree diagram below.
the diagram to find the number of possible outcomes. - B
Spinner B Q ~R
~n
R
B s < X
R - R
\B
B < R
Based on the tree, what is the number of possible B
outcomes? c. ) D.
i = . R R
&) < v
B B
Answers R
R<
B
<
A. B
118. If a single 8-sided die is toss_e\d once, find the probability of rolling a 6. /j ? /% ?{’ I'd Z )7
The probability is i }'( (Type an integer or a simplified fraction.)
@ o b 5 £
Z Z
Answer: 1 7/
8 p———— e
119. If a single 6-sided die is tossed once, find the probability of rolling a 2 or a 6. / (4 ) 7/ C; 7( & &
The probability is @ (Type an integer or a simplified fraction.) /mé 2 Jr 6 v
Answer: 1 "'/'ﬂ = ‘“Z S ‘é( 2 c i
3 6 6 <yl
120. If a single 20-sided die i sed once, find the probability of rolling an odd number. ;
e (0%
The probability is . {Type an integer or a simplifi fractlo \
= G 2 ;,f D @m 7o Gy @)
Answer; 1 — (g [ - ._Z_

2 cuz(

.2,0 : %’L) &

30 0f43 21172019, 9:37 AN
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121, Suppose the spinner shown is spun once. Find the probability of

spinning 3. :
- \ .
i)
The probability is g . (Type an integer or a simplified fraction.)
Answer; 1
3
122. Suppose that the spinner shown is spun once. Find the probability R
of the event that the result of a spinis 1, 2, or 3. { \) Z/

€1/ .

—-’--_-

.

The prabability is i -
{Simplify your ans 3 =
[,

————

- ==

123. A marble is selected at random from a jar containing 2 red marbles, 5 yellow marbles, and 4 green marbles.

What is the probability that the marble is red? —, r,(a(
2\ —
/. (Type an integer or a simplified fraction.)
. ALL

. v ed
Ved=t Nl 5o
(&
z + sty

The probability that the marble is red is |

31 of43 21IMNN0 027 AN
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124, Find the perimeter of the following figure. )
— U P2i(+2w

131t Rectangle /ﬂtz(,7) —(-Z(I3)
= 3_‘(’7" L6

17/ e
% (=623
Perimeter = ; GG‘ ]
(1) (O sq.ft
ﬁ ft
Answers 80
(1) ft

125. Find the perimeter of the following fi gure \

Pz 7w

Parallelogram / 16¢cm é")(’/ /Z?(Z(a) T Z//()

Pz $1+ 31T

26 cm
= S8
Perimeter = : 1 {1};_‘&__
(1Y O sq.cm
# em
Answers 84
(1) cm

320f43 2/1/2019.9:37 AM
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126. Find the perimeter of the following figure.

Y,

12 in.

Sthh~ 1L Y= AthBrc

i, @ s &= 1Y P= [L71v//6
sz /6 = 26 -7/4

16 in. @ @

The perimeter is | Ef;z lyl_/=

(1) O sq.in,
2 in.
Answers 42
{1)in.
127. Find the perimeter of the figure shown to the right, (_O) I&(FO)
PchAtBrctD~+E G ‘
P= ISH§+16 16+ 25 @
/s >3 7‘/67/672} @ ”“II 161

P 4] +1i+13
p= CTFL (Peggd

Perimeter=| __23 ™ /—Q—'
{(1) O sa.ft

%ﬂ.

Answers 88

(1) ft.

128. Find the perimeter of th@m hswnita the riaht @ /<A @
I5cm

—— - (s 55 ¢
Perimeter= gt g_ “[1}__{-._"'1_ F< 20 e /(G*"‘@
(1) O sqem A< s ™
@ﬁ_cm —/)
Answers 45
{1)cm
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129. A computer has shape of a rectangular solid. Find the volume of the computer, with dimensions of 5 inches by § inches
by 5.2 inches. v

The volume of the computer is __Z 20 (1)-C—M’L V ':(5)/5-)(@;,3_) l:_; F:‘;-’n

(Simplify your answer. Type an integer or a decimal.)
& = \
(1) O sqin. 2.9 V Zf({; 2.)
O in. “a T - ™ = .
-}"(cu in. ><___é._._.-— / 3 O \A
t § 0 C <

- w.—

Answers 130.0 y =S
()cuin, '

130. Insert <, >, or = in the space between the paired numbers to make the statement true.
D

N
= e o

e 2 <L
-+ < -

e -

(1 O I
O 1
O < A &

v

- {

Answer: (1) <

131. Insert <, >, or = in the space between the paired numbers to make the statement true.
P
53 | 23
/—’_.ﬁ
|—>.,_| o ’ l

Answer; > 3 5_

132. Insert <, >, or = in the space between the paired numbers to make the statement true.

5.897 5.89 Q’: ¥T9 — $.5F ﬁhﬂx\}

e __,—-'—"'_F

L  Same

34 of 43 219010 017 AAT
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133. Insert <, >, or = in the space between the paired numbers to make the statement true.

GRLAA: /67 Rr/( =

(16+a)+ 16 = A1 /6 /6~

135.

Plot the ordered pair {(4,1). State in which quadrant or on Ay
which axis the point lies.

Piot the ordered pair on the graph to the right.

4-
in whic@ or on which axis, does the point lie? 2 -
T

x

(O onthe y-axis 108 6 4 -'2_'2; 31 6 & 10
! 3
O v |!:r-
G o #]
-104

() on the x-axis

O ( C;‘ ( )
Answers Ay { \/ B

L) LNLAE DL A L |
1085412+~ 2

350f43 20N10 0.17 ANS
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136.
Find the x- and y-coordinates of the paint C. BAy
The coordinates of C are 44
(Type an ordered pair.) 7]
2
E L
X
NI T I T R i
-2
-4
-6
Answer, (4,1)
137.
Find the x- and y-coordinates of the point B. Gny
. r ffj & ) 18
The coordinates of B are . 44
(Type an ordered pair.) 7]
2
1 X
O/‘f EVREUR R R
il . -2
‘/ | )4 1(._ 41
Q o
Answer: (0,4)
138.
Find the x- and y-coordinates of the point C. Gny
The coordinates of C are | EF g ! 4
(Type an ordered pair.) I
2
C
D)y -
V4 6 -4 2 | 2748 6§
-2
rylf -
S “"
s
Answer: (3,1)
36 0f 43 23010 a-17 AM
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139.

Far the equation, find three ordered pair solutions by Ay

completing the table. Then use any two of the ordered pairs 10

to graph the equation. 8_’

1 .

y= Zx 6

4

Complete the table below, 2‘

X y

ol L0 | NS IEESTRTAN

-8 -2 | -2-
s [ 270 A

L 2

-
B
o
-
b=

Use the graphiMo graph the equation. -s:
-6
-10-

-2 II

Answers 0 i / ,_){ii
—J ]
: b = 6D 0]

37 of 43 217019 037 AN
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140.
For the following equation, find three ordered pair solutions Ay
by completing the table. Then use the ardered pairs to 10+
graph the equation. E_'
y==~2x+8 6
Find three ordered pair solutions of the given equation. 4'_
2
X
X
0 LA S S S St ps S g ™7 T S N
o 8 -6 4 -2 | 2 4 6 8 10
1 .2
2 I
Use the graphing tool to graph the line. -5:
-8
104 -

Answers 8

N0 QTT AN

38 0f43
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141.
Graph the equation. Ay

y=3x+4

Use the graphing too! to graph the line. 12

rrrrrrr Ty T T T T T T
20 -16 12 B 4 ] 4 8 12 16 20

Answer:

3 ofds 20010 0-37 AM
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142,

Graph the linear equation, OJ\y
164

y =Bx

Use the graphing tool to graph the linear equation. 6

Answer:

40 of 43 2100 017 AN
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143,
Graph the linear equation. _.!.
10
==-35x+1 1
Y B
Use the graphing tool to graph the equation. Ll
4-
2_
1 ®
| G L R B r T T T ™
o] 86 a{201 137418 {8fw
=2
-4
4
Answer.
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e T ™)
144, Given the fonowin@,?ﬁnd - 5), f0), and £3). @@7" 04 2 /
[ fod)= 3= | fR: 3 x| )E) =30

[ AFS)=-3¢s5)-Y f A0) ==3/0) /[(3):*5’/3)—5/

/[(—-r ~ /5=y | /ﬂ’ z '_V
Ex

f(x)= -3x-4

Answers 11
-4
-13

145. Given the following @]ﬂng_ﬂ:j)-;-f(f})randﬂzl.—-ﬁ

fx)=x2 +3 /26//: )(i}‘} |'I | IZ(X] -’—X?—?’S
— fos) =95 3|\ o)< )3
) /(“5) '-("5_/(‘3"/-" ?) /[/0)”:(0)’0).-,-'
< A5 3 f’ ) =073

! 1
! 1
i II
I \
if \
1

Answers 28
3 T ] \M_

7

Jé?) A(Y2) 42
//(2) — £33

i ——
faic-ex )

146. Find (- 4), f(0) and f(3) for

f)=-2x

f(~4)=

floy= N\ e ——
B |

Answers 8

A7 AF 43 212019, 9:37 Ab



MATHSTHGRADEWARMUP) 49e-Alfredo Alvarez Imps:-’.-"x__'ggniﬁro&._pear_so}'l

147. Given th functii),n f(x}= —2x+ 4, find the indicated values. !
(a) f(4) 76 T
{b) f(b) & } &(’1‘5/
(a) f(4)=( - &f_ .j{simplify your answer.) [f?’) T = (F) +Y }/(b) = (B)T“L/

(b) f(b) @b_—ﬂ_z_ (éimp!ify your answer.} / ‘/) = —'f’f“/ @) - _-25 +9’
Answers —4_1_ 6

-2b+4

148. Graph the function.

f(x)=5x -2

Choose the correct graph below.

e

H) = s~ feg < sx—T

f20) = -t ///(:)c JORS
T /(v)’.‘_ o— L Cb‘)‘: 5,'_'1.

149, Jhe § -06 Vix) = x° may b Xem - )
us:d?gt:'lt;d - :me c?fya ) A ¢ > (/()(? ':)(3
cube with side length x. Find /_’/ 1=
h | f b i LR -
T L P J V&) = (57
@ s Tt V3)-CH((7)
The volumeis | /' cubic centimeters. (Typ; an integer or a de&[ma_l.) . 65‘ / 07 }

Answer; 512

Answer:
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